EATNAB.

JAXWPAN A.COHOMAA

OOPHOO AMMIMWH X3PN3H CYMbIH EB-bIH XAH-YYN CYPIYYNUAH
6-P AHFTMWUH MATEMATUK XMY33NMHUH AHIMM O3BLUKMX LWANTANTLIH MATEPWARN

Xyrauaa 60 MuHyT A XYBUNBAP HwiT oHoo 30
Cypar-biiH H3P ..o AHM
COHIMoX QAANrABAP: /Gognoro Byp 1 oHooTol./

1. 5436 TOOr 3yyHbLI X3Cr33p TOAMNOORONA.

A. 547 B. 5.44 C.543 D.5.4
1 3 4
2. (3+43) 3=
5 25
A 5 B. e cC.1 D. 4

3. [apaax T3HUITranyyOoWMAH ank He nponopl, Ba?
A 4:5=16:20 B.3:9=19:3 C.2:6=48 D 1:5=10:2

4. 4(x —3) + 7 = 35 TarwmATranuiar bop,.
A 4 B.72 C. 10 D. 40

o

3ypraad eHUeITWAH 00TOo BHUNYYAWWAH TaB He Tyc Byp 1157 Gon aypraa gaxs eHUMWAr on.
AL 275° B. 575° C. 23 D. 145°

6. 9:0;1 yndppwiAr awwrnax uidp AaBTaxryid 3 OpPoOHTOW TOO X3JWIAr 3oxuox Bonox Ba?
A5 B.3 C.2 D. 4

7. +10% — 82 = xagTail TaHUYY B37
A2 B.a C. 18 D. 36

8. TooHw 25% He 24 Gon yr Toor on.
A. 960 B. 104+ C.6 D. 96

o

[apaax aoypcaH napaannkH 8-p nmwyyHa xansH Gynargcad keagpart Gairaa a?
ﬂ

AL 24 B. 14 cC.a D. 4
10. KoopguHaTeiH xaeTraidg A(l; —2) uar Tamgarnae. A uarmidd OY TaHXNArMAH XyBbO Tarw
%*3MT3A Daix LaMMiAH KoOpAWHATLIM On.
s
A (-1;-2)
B. (—-1:2)
; C. (1;2)
STy gaznoIITlEEiIIISEIES 150 D. (1;-2)

11. NMapannenorpammelH xoép Tan 5.6 xapeuaartai ba
nepumeTp He 44 cm Bon Tanyyawr on.
A 56 B.20;24 C. 15;18 D.10;12



12. Xaipuart 5 ynaaHx, 4wap, 6 xex bember Gaixkas. Xanpuraac Har bember caHamcapryi
aBaxapq wap eHrviH bember Baix maragnan on.

& 1 2 11
Al = B. 3 C. = D. =
13. YAngnwiar ryiuaTra.
(=36):4-(-2)+(-25)=
A. 43 B.7 cC. -7 D. —43

14. Xyy HOMBIHX00 30 XyyOckr YHIWKMB. X3pP38 3H3 Hb HOMBIH DyX XyyOacHb E x3car bon HOMBIH

HHAT XyyOacHbl TOOr ONOOPON.
A 12 B. 18 C.50 D. 75

15. WMnapxwiinan xanbap4naapan. 2(x —3) + 5(2x + 1) =
A l2x+1 B.12x -1 C.12x — 11 D.12x + 11

16. Aanary rypead enep afAnas. 3XHWA egep m KM 3aMm, fapaarvitH egep emHexeec 6km Dara
3am, rypae Jaxs eJep Hb X0&p Jaxk efpHiHxeac 2 OaXWH WX 3am Tyyncad bGon rypeaH
efep HWAT TYYNCcaH 3amMbilr M alnrnad UNapxuinaspan.

A 4m-—18 B. 4m —12 C.4m—-6 D.3m - 10

17. NMapannenonuneawitd aanaxyyd 1080cm®, ypT He 12cMm, epreH He ypTaacaa 3cm-3ap
GorvHo Gon eHgpwiAr on.

A, Bem B. 9¢cm C. 10cm D. 30cm
18. 300C0OH MeHIWAr 3 yoaa opxuxog Ar xoép yaaa cyng Oyyx DonomuiAH Toor on.
Al B.2 C.3 D. 4
3AOr AW OAANCABAP

1. a+b—-—c=7

BT

2. 5-pg acean 8-g xyeaarpgoar 101-aac Gara xanaH Too Daiix
Ba7
3. Cypariug 1200 mog cyynraxaa. YyHuR 35% He ynuac, 25% He Hape, 0.2 He rauyyp bycag
Hb xyc Daie. Tag xagad xyc cyynracad 6a7?
x=1y=-2veq—2(x —v) 4+ 4x + 2y UNapXWANNWAH YTILIr ON.
Tarnu eHuerT xanbapTai LauapnarT xypaanadn 1 meTp epreHTai 3am (OyoargcaM) aypart
VayyNcaHTaA agunaap Taene. Tarean aynar yprax (Gynargaaryi) raapsid TanGair on.

M
- P -
' i =Y

b

4 M

6. A=1{2,6710}, B = {4,579} 6on AU B 6aAn E oncopoi



BATNAB.

3AXHUPAN A.CIHOMAA

OOPHOO AMMIMHAH X3PN3H CYMbIH EB-bIH XAH-YYN CYPIYYNUUH
6-P AHMMWH MATEMATUK XUYIINHUHUH AHM O3BLUMX LWANTANTBIH MATEPUARN

Xyrauaa 60 MUHYT B XYBUNBAP HuiaT oHoo 30
CyPardbiiH H3P .o AHM .

COHIMNoX QAANTMABAP: /Gognoro Gyp 1 oHooTOR./
1. 4.53 ToOr apaeHbl X3Crasp TONMNOoDRoN.

A 46 B. 453 C.45 D. 4.4
2 1Y & _
2. (3+7) 5=
A2 = c.z D.1
(5] I6

3. [apaax T3HUITTaNYYOWAH ank He Nponopu Ba?
A 1:5=2:20 B.3:7=9:21 C.4:6=5:8 D.5:7=10:21

4. 3(x — 3) -5 = 25 TarwviATranyAr Goa.
A3 B.7 C. 13 D. tJ;

5. 3:;2;0 undppwiAr awurnad uwdp AasTaxrnyil XMYHA3H 3 OpoHTOR Too Gu4wx Bonox Ba?
A2 B.3 C 4 D.5

6. TaeaH eHUBITWAH OOTOOO BHUNYYOWAH gepes Hb Tyc Byp 96° Gon Tae gaxk eHUMMAT on.
A 336" B. 3847 C. 24" D. 156°

7. V8% + 67 = xagTai TaHUYY B37
A 14 B. 10 C. 4 D. 100

8. TooHw 20% He 25 Gon yr Toor on.
A. 125 B. 100 C. 1250 D.5
9. [apaax oypcaH gapaannsiH 6-p ruwyyHg xanasd Oynaracad keagpar Oairaa ea?

A 16 B.12 C.6 D. 18
10. KoopgwHaTeiH xaetraig A(1; —2) uar Tamaamae. A uamidd OX Ta3HXN3rMAH XyBLO TaNw
¥3mT3i Baix La3miAH KOOpPAWHATHLIM ON.
i A. (1;2)
B. (-1;2)
C. (-1;-2)
D. (1;-2)

11. MapannenorpammelH xoép Tan 3:4 xapsuaartan ba
nepumeTp He 42 Bon TanyygeIr on.
A 34 B.6;8 C.9;12 D.12;16

12. XapuarT 4 ynaaH, 3wap, 5 xex Gember baiwas. Xaipuraac Har Gember caHamcapryit
apaxan ¥xex eHriiH BemBer Baix maragonan on.
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13. YAnonwiar ryuaTra.
(—48):4-(-3)+(-30) =
A 66 B. 6 C. -6 D. —66

14. Bat matematukuid 12 Gognoro Bogoe. Xapae a3H3 He Byx BognorsiH % ¥acar 6on HWAT

GoanorsiH ToOr CNoopon.
A8 B. 10 C. 36 D. 18

15. Unapxwiinan xAanbapynaapain. 3(2x — 1) + 4(x + 2) =
A l0x-1 B.10x -7 C.10x+5 D.10x+1

16. XMumMmcung rypeaH egep XMMC TyyE. IxXHUA edep N KI XUMC , JapaariidH egep eMHexeac
2Kr WX HMMC, TYPaB Aaxk efep Hb X0ép Naxs egpuiHXeec 2 faxXMH WX XMUMC TyycaH Bon
rypeaH egep TyYCaH HUAT XUMCHIAT N alWKIMad MNapxyuinaspa.

Adn+4 B. 4n+ 6 C.4n+8 D.3n+6

17. NapannenonuneawiH aanaxyyHd 1440cm?, ypT Hb 12cM, Bpred Hb ypTaacaa 4cm-3ap
BorvmHo Gon eHapwir on.

A 30cm B. 120cm C. 15cm D. 360cm
18. 300COH MEBHIWIAr 3 yaaa opxuxoq Ar xo8p yaaa 1oo Dyyx GonoMMWAH Toor on.
A3 B.2 cC.1 D. 4
3ALOMAW OAANTABAP

1. a4+ec—-hb="7

-y

2. 5-pacean 7-g xyeaargaar 100-aac Gara xsasH Too Danx
837
3. Xyyxayyao 900 wupxar uawar Tape#aa. YyHui 25% He ynaad, 30% He Araad, 0.4 He yaraad
Bycag He xex eHrMiAH Uauar Bane. Tag x303H XexX eHrviAH U3uar TapscaH 6a?
4. x=-1,y=2vyen—3(x—y) + 4x 4+ ¥ = AN3PXUANNHAH YTTLIr ON.
5. Tarw eHuert xa3nG3pTai U3UspnarT Xypaansdg 1 meTp epredTai 3am (Oyoargcad) ayparT
YaYyNCcaHTail agunaap Taeme. Tarean 3ynar yprax (Bynargaaryi) raapeiH Tanbaidr on.
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6. A={a,b,ek} B={cdeh} BonAUBE&aAnE onoopoA.



